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I' AYKEIOY MEPOX A

174 1)
y(X)=x*=Yy(x)=5x"=y'(1)=5-1"=y'(1) =5
y=x"="y(a)=(20+1) = y'(a)=5(2a+1)' 2= y'(a) = 1020+ 1)’

X=20+1

Axoun 6tov X=1 = 1=20+1=20=0=0a=0
Ondte y'(0)=10(2-0+1)" = y'(0)=10

174  2)
y(X)=X=Vy(X)=3=y'(4)=3-4°=y'(4) =48
y=x" = y(a)=(3a-2) = y'(a)=3(3a-2) 3= y'(a) =9 (30— 2)’
Axoun otav X :4X:ix>_24:3a—2:3a:6:a:2

Onote y'(2)=9(3-2-2)" =y'(2)=9-16 = y'(2) =144

174  3)
y(X)=x*=y'(x)=6x"=Yy(1)=6-"=Yy'(1)=6

X=40+9 6 5

y=x" = y(a)=(4a+9)° = y'(a)=6(40+9) -4 = y'(a) =24 (40 +9)’

X=40+9

Axoun 6tav X=1 = 1=40+9=40=-8=a=-2
Onote y'(-2)=24[4(-2)+9] = y'(-2)=24-0° = y'(-2)=24



